
Unit 10 Practice Exam (PE#6) Name:
Date:Circles

Show ALL work and BOX answers to receive credit. Use the z button. Round to 2 decimal places.

bit,U, f rob\c\so4 - ?*b

1. Match each part of the circle with the coffect vocabulary term:

central ungle chord diameter

radius

inscribed angle

tangent linemalor arc mtnor arc

a)

bl

c)

dl

e)

0

s)

h)

Tt = t,rnar^ F \i nu
a)

ZRZO=
ItrpR= C-,ULpra\

PQ= rtla*-lo-
LM = Mivt or ccC

ZP = t^a-rLii,r-S

Given the information in the diagram of circle P at right, find
*6d, nZBAC , and m2B'.

,,r6L + ^S *

35" .i- x +

n hL = 7b0'

x = 7bA'

tx :325"
x r 162"5'

: t?"5' -G:

^fr=*fu

rrc
mBC: 55 mIBAC I b2.9"

In the circle at right, the diameter KL intersects MP at

pointQ. If 8P :6, QM :7 .and W:5.thenwhatisthe
radius and circumference of the circle?

$x
5rc

K

= (t)(u) r : fu-tJ - t3...i
LL

. !.'rt (tr'+)

t{z

6"Y

L

C'h.
P

Radius: Circumference "fa"io utoilr



4. Radius Pl bisects chord BC, BC:14, and AN :3' $ - -\,a
Find PN and the Area of the circle. ) p ,.'--7:----

r=m = m?q'**y* (-/rK; \
^ 

--\ 
-.\ Ttu'..ea \t,a- - -\a )

= F*qq =tl,p"\ 'ei e'(-- Iu/\/
?N= AP-m=F-- 3 $U-Qi

A*Fr'.-:l@: S&ii-

lo ls2,rl /
PN : !.62 *r,i&s Area: l?t'Zl ,,t \-=--'- '

5. In circle O, OP is tangent at point g, OA : 6 and AP :2'

What is the length of QP 2 What is the central angle

mtAoQ? \ fi.*rofrill; 
t

I a. + b,= (-' \ ru- *n$li@wWf* ( "\l b'= L'- &' cos(^+Aoo) = * t N n'I

Iu=%':*'=Tl+) W,
lar-ftoTv--(do)"\ l*m '-" 

I

- 

-

QP : 5"?.t unllg mlAoQ: Lt [' \t I '

An fi-inch dinner knif'* is sitting cn a circui;r plate so that its ends

are o11 thr erlge of the plat*. If the rninor arc that is interc*ptecl l-r-v

the. ktit'e ffieasure$ 12t1", firicl tlrt diatneter of the plate. Shoq' all

u'or'tri,

tivrIa'') = {f €._
caa!) q5

K=;ffi.-) tt



7. XA and XB aretangent segments of circle O. lf XA = 24 and XO = 25, then find:

A 
a. The radius,-OA = r

tr'* (rq)'= Lr)'
unr?s

b. Length of AB

5 = sr/\

23 ' fl sln-

?3,?q" fil
-- 

9-

3b0" I"{li-

f1 +6{ rlt
2))

I
to. salw

E LLI

S

2..{ \
2-5)

/2,{\ v\

-l\^-Ls )

/ .\a(^"b) = .(c.r-A)

bLb+) = e(r+rz)

76r 6* = lao
br E tzY

2x

36t> G -- 32.t?.2r

G*\.,J1 unil-r O? ?r. =1rr[*)"[G]
8. Find the value of x in each figure below.

b.

K = *(u -")
LID' = t(x- bo")

g4': Y-bl' --+ lx=[YD"
9. Find the value of x and y in the circle at right:

2( + 3x + 6t .\- \t( = TbO'

@).
a

Fg. \,'rrr\W 4s u,t

r{&+ lY Y"\.----- =fqq
n 3, *taen :*b0.ra'c.f {Ww v'outtr,e> Fr^ W0)

sin (

+v.7q"

q p.L7 v

lS f = 7;1a0"



\zp'

''e;=tD 
b0

10. In the diagram of circle O below, assume m AE : 50o una*i =720o. Find:

a) m/.t " *

b) mBE e)

c) mZ2

: f8t)-LUo*"lD =1e0-tg

b) *ffi: Lls'
tP,n o

c) nZP : t' /-

d) mCB - 18o -\-t-a

[: too"J c\r--

4 D = ts.D-(loYu)

: (8a- , 15 = 1pD

: t&0"

mZCAB

12. Given the information in the diagram of circle P a,l- "y h,t-,

bel€rirr find.mlA, *ffi , mlP, length of 6i and

the Area of Circle P

*\A =Y=&D
a) mlA: ).lo

*ffi., ztso-Lruo.q,
,ffr = nba lzt

Lr,t{('lHVu'-r
dl BC= ['] bT crn

Area of Circle P =
e)

A=T-rz :

?b. sL1 L,/^L

qr Bc

-\

lDtr'
tsc-

bbo'

be,

tsC
f-\\--
tl.o+*

?oTr : bo
i- 1-Or,b{- _ <__ Yt

(s/0

s r.15r*!DNffi)

11. In circle O, PA and

mlAPO, mAC,and

PB are tangents. PD bisects IBPA.If wIAOP = 53o, findthemeasureof

mIADC
rn+/t?0 = 90 *s3 =Pt1

i,^O = s.}*

s3
wr \ &DC = i =r;n

B y_c

rl[s)'Jes"-
Ir^-=--;--
\h ?S's''l c-'

lCIir


